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1. Given this sign pattern \ ; : >, at what value(s) of x does
X -3~
fhas a minimum value? T
@ -3 b) 1 c) 2 d) -l1and3 e) none of these
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e) There is no minimum value
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3. What are all values of x for which the function f (x)=2-12x - 2x%+ ;x‘q’
is incpeasing? i }
£= -1z ~dx+x*
a) -2<x<6
b —6<x<2 %
¥ =" = (X —b>
(¢)> xs-2or6sx a( +2) 0 \
d) x<—-6or2<x F( 4 & - [ “
e) All real numbers e
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4. Suppose f’(x)= (1—x)3(3—x)5 (x—5y. Of the following, which best
describes the graph of f(x)? c! X 0~ a4 o+ s

A .ﬂ___s.ry_rw et
a) f(x) has relative minimum at x=1, a relative maximum at x=3, and

neither at x=5

@ f(x) has relative minimum at x=3, a relative maximum at x=1, and

neither at x=5

g (x) has relative minimum at x =35, a relative maximum at x=3, and

neither at_r@

M. f(x) has relative minimum at x=1, a relative maximum at x=35, and

neither at @_
N

23‘ f(x) has relative minimum at x =3, a relative maximum at x =5, and neither

N
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5. Consider a particle moving such that its position is described by the function
x(t) = 6t~ t* When does the particle attain its maximum velocity?

d) t=-1 e) t==%1
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6.  Find the x-value of the absolute maximum of y =x2—2x—8on x €[-2, 3]
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7. Given this sign pattern ¢ — , on which interval(s) is
X —‘3 /1

f(x) decreasing?

a) —3<x<l1
b) —3<x
c) x<-3

d 1<x
@ x<1

8.  Which of the following equations matches this graph:

A2\ y=3(x*-2x°-3x7 y=.3(x*-3x>
@ 3 (_(Y 7"(_‘5 2 - 2;,()—)_3 )} ®) ( )

R r=30{=) W y=-02x+2)(x- NG-47 ¢
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Round to 3 decimal places. Score
Show all work.

1. Find the zeros of y = x> —3x2—45x + 135. Show the algebraic support.
s X7 () —us (- 3)
=(0-usy (x-2)

(i 2J§IQ) Z?io)

2. Find the extreme points of y =x> — 3x2—45x + 135. Show the algebraic
work to support critical values.

l/> e A Sy =D
<= e ~ /8D
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3. Find the zeros and-extreme-points-of y=x3—3x*on x €[—~2,5] Show the
algebraic support.
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4.  Find the zeros-and-extreme points of y =x3—3x%on x €[-2, 5] Show the
algebraic work to support critical values.

d
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Show all work. Score

5. The sign pattern for the derivative of H (x)is given. (a) Is x=—2ata
maximum, a minimum, or neither? Why? (b) Is x= 1 / 4 at a maximum, a
minimum, or neither? Why?

H’(x)+ o + 0 - 0 +

—
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X = 1/4 7
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6.  Find the traits and sketch y =x3 —3x*on x €[-2, 5]

Domain: X & EZ\ §j
Zeros: CD[D\ ("g l>>
End Behavior (left): jJOmL

Extreme Points: 5Z¢ 4

Range: KQE‘ ﬁ"SD‘ l/zg,]
y-Int: (0 )

End Behavior (right): %)<




7. Find the traits and sketch of y =x3 — 3x2—45x +135.

Domain: W A (Goncs
Zeros:( i%\@\ 5) Cz_a)
End Behavior (left): Dooss)

Extreme Points: Sz¢ = 72~

Range: Bé AL Eeas
Y-t (© 3D

End Behavior (right): U




